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Ex/Phy.Edn/PG/MPCC-201/196/2017

M AsTER oF PHYsIcaL EbucaTioN ExamiNATION, 2017

(1st Year, 2nd Semester )

APPLIED STATISTICSIN PHYSICAL EDUCATION & SPORTS

Time: Threehours

1.

Parer - MPCC-201
Full Marks: 70

Answer question no. 6 and 7 and any threefrom therest.

What do you mean by measures of central tendency ? Why
standard deviation is the most reliable meassures of
variability? Calculate median and SD from the following
digtribution

Class f
145-149.9 12
150-154.9 5
155-159.9 9
160-164.9 15
165-169.9 16
170-174.9 7
175-179.9
180-184.9 1

2+4+4+5=15
What is correlation ? What are the various types of
correlation ? In acertain examination 10 students obtained
thefollowing marksin History and Geography. Find Spear-

man’s rank correlation coefficient.
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MarksinHistory: 12 15 24 20 8 15 20 20 11 26
MaksinGeography: 21 25 35 24 16 18 25 16 16 38

3.

4.

2+5+8=15
What are the assumptions of ‘t’ test ? Explain the term
standard Error of mean.
Thefollowing datawere collected from two separate groups
of 144 men and 175 women, on an attitude scale.

Mean SD
Men 19.7 6.08
Women 21.0 4.89

a) Testthesignificance of thedifference between themean
of two groupsat the.05 level of significance.
b) In your own words, what does the result of the
experiment say ? [ Table value of “t” at .05 level=1.96 ]
2+5+8=15
What is one tailed and two tailed test ? Write down the
conditions for the validity of 2 test. The mothers of two
hundred adolescents (some of them were graduates, and
others, non-graduates) were asked whether they agreed or
disagreed on acertain aspect of aadolescent behaviour. The
datacollected areasfollows:

Agree Disagree  Totd

Graduate M others 38 12 50
Non-graduate M others 84 66 150

Tota

122 78 200
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. Thesguareof the standard deviationiscalled

a) Meandeviation b) Quartiledeviation

c) Inter quartilerange d) Vaiance

. The least possible correlation between two variable is —
a -1.00 b) —0.1

¢ -0.01 d) -.001

. Mean +1c covers—

a) 68.26%of theitems b) 94.45% of theitems

c) 99.23%of theitems  d) 99.73% of theitems

. Theoritical work ont-distribution wasdoneby

a) Karl Pearson b) Kdly

c¢) Fshe d) Gosset

. Value of which of the following can’t be determined
graphicaly

a) Mode b) Mean

c) Median d) Standard deviation

. Product moment coefficient of correlation meassures

which particular type of relationship between two

variables?
a) Linear b) Curvilinear
c) Parabalic d) Circular

[5]

8. Themeanwill belower than medianin
a) Negativeskewness  b) Postiveskewness
c) Boath d) Noneof these
9. Ifthesamplesizeincreasesthen
a) Thestandard error increases
b) Thestandard decreases
c) Thestandard error remainssame
d) Noneof these

10. Thedifference between statistic and parameter isknown

as
a) Samplingerror b) Standarderror
c) Samplingframe d) Samplingfluctuation

11. If thecoefficient of determinationis0.81, thecorreation
coefficientis—

a 09 b) -0.9
c) 081 d) Can’tbe computed

12.If n observations are available in ‘k’ groups, then the
degrees of freedom of F-statistic for oneway layout in
analysis of variance is—

a Kandn-K b) K-1andn-1
c¢) K-1landn-K d Kandn-1
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Is the attitude of these mothers related to their being
graduates or non-graduates ? 4+4+7=15
What isF test ?What arethe uses of F-test ? Thefollowing
table gives the sample psychological health rating of
executivesinthe Public sector, Private sector and Foreign
Departments.

Psychologicd hedthrating

Public 71 75 62 73 64
Private 84 79 72 76 73
Foreign 91 84 72 79 86

Using analysisof variance, whether psychol ogical health of
executives of three sectorsareequal ornot ? 2+3+10=15

Write short noteson any two : 7402=15
a) Characteristicsof Normal Probability Curve.

b) Typel and Typell error andlevel of significance.

c) StatisticsanditsusesinPhysical Education.

d) Usesof measuresof variability.

Put ([0 ) mark onright answer : 1010=10
1. Which of thefollowingisnot anamefor disperson?

a) Scatter b) Spread

¢) Regresson d) Vaiaion
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